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1 Introduction
Two options [1] on UE ACS requirements for intra-band contiguous were captured in TR36.807. Some considerations for CA bandwidth class are provided in this contribution.
2 Discussion

Both options proposed to activate PCC and SCC and tested each of individually, while the differences are the interferer frequency offset and the value of ACS for each CC. 

Regarding the interferer frequency offset, the BWGB changes in Rel-10 was taken into account in option 2 which is in line with the UE Aggregated Channel Bandwidth definition. 
Figure 1-4 illustrate the ACS power level difference for symmetric and un-symmetric CC combinations
1. Figure 1and Figure 2 shows 75RB+75RB.
2. Figure 3and Figure 4 shows 100RB+50RB
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Figure 1 ACS of Option1 for 75RB/75RB aggregated
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Figure 2 ACS of Option2 for 75RB/75RB aggregated
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Figure 3 ACS of Option1 for 100RB/50RB aggregated
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Figure 4 ACS of Option2 for 100RB/50RB aggregated

The differences between Option 1 and Option 2 are rooted in the different filtering considerations. It looks like option 2 considers the aggregated channel bandwidth as a whole while option 1 may infer a per CC filtering. 
Generally each carrier could have the individual digital processing branch immediately after the ADC, and the same Rel-8/9 S/N ratio shall be maintained to meet the Rel-8 performance requirement. Therefore it could be expected that the ACS value is the same for each carrier. The approach would agree with option 1.
From the system co-existence point of view, it would also be reasonable to have the same interferer level on both sides of the aggregated channel bandwidth.

3 Conclusion

It’s suggested to consider the following factors when making decision between option1 and option 2

1) Filtering difference.
2) Residual noise balancing between carriers

3) And, the real interference scenario in real network.
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